RERFEE L 107 BEERERERNERE

— ~ BHEAR
= me?in E1hE BT
FESEE | 5EBE R RE | S /FUE | S |52 BE PR e R | B SR | 56 L R RESEL | IR
NEL BB ENBENE NE | EAE SN SN A [ EABENE SN
1 1 0 0 45 43 2 0 22 19 3 0

= EREEREEE

TAERDE

ERITAE-RE

SR T BB ELFT

ERTAE-EHL

ERETAE-FRE b

ERITIE-AIE

ERILE-HHIEE

[EY
[ee]

[EEN
[ee]

£ ER(EN i

oy THE -1

05 TH- U ERFT

057 THG-E3

B oy THF-JRE AR

0oy TH-AlISE

#or TH-HETEE

4 T - EA

O |lo|olojlolo]l o |]o|l|Oo|lw|Oo]|]O| OO

O |lo|o|lojlo|lo]|] o] oO

HREMERGE

oO|lo|o|lo|j]o|lo|o]|] o |o©o

[EN

IR

R

oOo|jlo|l|o|lo|o|l]o|lo|j]olo|o|]o|lo|]o|o| oo

ST B

RARETR

B IR

Ay S

HEVRHOE

SR 508

fibe S Sggtil

BoE )l SR

oO|lo|lo|lo|lo|j]o|lojl]o|]o|o | |O]|O

P |lO(N]W| O |IN|F]|]O

o|lo|r|r|o|o|lo|lo|~N|w|lo]|u]|o Kl ~

RO |PM~|O|I DN, |O




{ELA R S AR s dE 0 9 0 9
VP14 0 2 0 2
A ~ AR e 0 0 0 0
BT Z AR IEREISE 1 3 T 2

K1TMEAN 0 6 2 8
K1EAMLEZE 2 EARN 0 10 0 10
&2 {EHM %= 3 AN 0 9 0 9
&I3EHAMLEE 4 @AW 0 5 0 5
&4 EHM %= 6 AN 1 4 0 5
6 {iE H DL 0 3 0 3
HIEFIC A FBLIF 0 5 15 20

THEERA

KIFTERE 22,000 TCLAT 0 0
L EEIE 22,001 TTE 25,000 7T 4 4
KT EEIE 25,001 TLZE 28,000 T 29 30
Xy BRI 28,001 JLZE 31,000 JT 15

KJFrE 31,001 JTE 34,000 7T

3= 34,001 TTZE 37,000 IT

&IFrE 37,001 JTZ 40,000 IT

&IFrEH 40,001 JTZ 43,000 IT

KIFrE 43,001 JTZ 46,000 IT

KIHr = 46,001 JTZ 49,000 JT

KJHr =N 49,001 JTZE 52,000 7T

K= 52,001 JTZ 55,000 7T

KJHrEH 55,001 JTZ 60,000 7T

&JHrE=H 60,001 JTZ 65,000 7T

&JHrEHE 65,001 7T2 70,000 TT

&JHrEHE 70,001 JTE 75,000 TT

&= 75,001 JTZ 80,000 IT

&I 80,001 T4 85,000 T

K= 85,001 7T 90,000 7T

KJHrEH 90,001 JTZ 95,000 7T

JHrE 95,001 7oA 100,000 7T

JHTETE 100,001 7TZ 110,000 JT

&= 110,001 7T 120,000 7T

&= 120,001 72 130,000 7T

&IFrE 130,001 7T 140,000 7T

&= 140,001 T 150,000 7T

&JHTETE 150,001 JTZ 170,000 JT

&JHTETE 170,001 7TZ 190,000 T

&JHTETE 190,001 JTZ 210,000 T

o|lo|lo|lo|loj]lo|lo|]o|lo|lo|]o|l|o|]o|lo|lo|lo|lo|]o|lo|]o|l]o|l|o|]o|lo|r|O|O|]O|O

o|lo|lo|lojlojlolo|]o|lo|lo|l]lo|lo|]o|lo|lo|lo|l|o|]o|lo|]o|lo|lo|]o|oOo|oO ]| ©

o|lo|lo|lo|lojlolo|]o|lo|lo|l]lo|lo|]o|lo|lo|lo|lo|]|OoO|lr|O|J]OC|OCO|OC|NMN]| O




KIHr =L 210,001 JTLAE 0 0 0 0

=2 )
HAN 1 42 16 59
A 0 0 1 1
HRTARBLFEAIRR 2
et 0 1 0 1
AR A% P B R R A5 0 0 1 1
R 0 0 0 0
ST AEF 0 0 0 0
HoAth, 0 0 0 0
B RiFT S B SRR TR R KAV R B R ] 2
IFERE 0 1 1 2
FE 1 19 12 32
LI 0 22 4 26
A& 0 0 0 0
IFERFE 0 0 0 0
HRINIIEAE - ROREEHERER 2

0
AR 1 41 17 59
EFIMR(EENES Y=Y 4
IEF MR 0 1 1 2
BN 0 35 7 42
i 1 6 9 16
BN =) 0 0 0 0
IEE IR 0 0 0 0
BRI TIEAEREFEFE A « FT - B RESHRE - HAMEER L 4
IFEFE 1 1 1 3
(SE=y 0 15 12 27
i 0 26 4 30
ENGES 0 0 0 0
IEERRE 0 0 0 0
AR DA TR T 22EKE | WIRNIRELERRTEE) 2
BESEAIES ~ FIRE(EH7 1 19 9 29
fEavAG ==Y &S TIPNGTS 1 9 11 21
RN E B RE 0 16 4 20
RANEFEHE 1 29 1 31
T EES) 0 13 0 13
G 0 2 0 2
S PR EE) 0 0 0 0
S LR - IRl 0 3 0 3
WAL B 0 1 0 1




HAth, 0 0 0 0
BERT LEREREEZRBRELEBEEER  RAEREERED 2

0
A 0 42 17 59
SRR S B B R R Y B By =
KRR ERBE -5 (UCAN) 0 16 0 16
BERSE - B 0 0 0 0
HRRFE 38 2 SRR O ) SO S ) 0 3 0 3
SEREH -~ 290 0 30 0 30
R R 0 1 0 1
RECEEA HEE 0 30 0 30
TEHILAEERE 0 0 0 0
R TE 0 0 0 0
AP LEE 0 11 0 11
At 0 0 0 0
Ba 1 3 19 23




